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Questions and Problems for Consideration

1. Given the two alternatives do the work inside or subcontract it to Packages Ltd?
2. What are the advantages of one alternative over the other?

3. Which action would you favor?

1. Given the two alternatives do the work inside or subcontract it to Packages Ltd.?
Two alternatives for Liquid Chemical Company to decide are keeping the container department of its company and signing the contract with Packages, Ltd. With helping Walsh to make an efficient decision, we’ll try to eliminate all sunk costs and costs that don’t differ between alternatives.

	Cost of Operating the Container Dept.
	Cost of Contract with Packages. Ltd.

	
	

	Labor                                             $100,000
	Contract--New                             $250,000

	Rent: Plant                                         90,000
	Contr.--Maint.                                 75,000

	Rent: Warehouse                              170,000
	

	Other expenses                                 15,000
	

	Part of G &A                                      45,000
	

	Total                                              $339,000
	Total                                           $325,000


The total difference between keeping the container department and signing the contract with Package Ltd. will be $14,000. Since the contract will be four years contract, by multiply 4 to $14,000 is $56,000. It means if Liquid Chemical Company signs the contract with Packing Ltd., it can save $56,000 for four years. Therefore, we think the work should subcontract to Packages Ltd.
2. What are the advantages of one alternative over the other?
The advantages of subcontracting are as follows: 
-There is a direct saving of 378,700 – 325,000 = $53,700 
-The company does not need to rent out the extra warehouse space which will bring a savings of $17,000 of rent. 

The advantages of not subcontracting are. 
-Savings on machinery 
240,000/8 = 30,000 per year, usage for 4 years. 
So, 120,000 – salvage money 40,000 = $80,000 loss on machinery averted. 


-Savings on special chemical: 
200,000 – 40,000(used) = 160,000: 20% loss on sales that is $32,000 loss on sales and $32,000 opportunity cost. 

-The use of general administrative overheads. $45,000 will continue to be incurred because the personnel will continue with the company. 

The cost analysis of the proposed maintenance contract: 
1/5 men 20,000 
10% materials 4,000 
Rent (same) 9,000 
Expenses 13.000 
Total     46,000 
1/5 of GAA taken on direct labor basis= 9,000 
Total cost of maintenance $55,000 
Since the subcontracting quotation for maintenance is $75,000 there is a savings of $20,000.

3. Which action would you favor?

The loss encountered from the sales of machinery, the loss on the sales of chemicals and the fact that the maintenance contracts is offsetting the cost of rented space would led us to favor in continuing with the self- manufacturing. From the case study, it is obvious that the company will conduct the maintenance job by itself as well as continuing with the rented space. So, it is viable to go in for self manufacturing. In addition, many workers who have been with the company for a long time will not have to be laid off and they may continue with the company. The internal adjustment of employees also gets averted in the bargain. 



